1150 Approximately

DETAIL

SCALE 1 :

A
1

PARTS LIST

ITEM [ QTY

DESCRIPTION

Top Plate

Guy & Tag 1300mm

M8 Washer

M8x90 Hex Head

M8 Nut

Raingauge Base

Njoojt|h|WIN
WrRrOODWoO|W|(—

M8 Washer

[DRAWN "
terry.jenkins

17/10/2019

Environmental Measurements Ltd.

Phone No: 0191 2583757.
Email: terry@emltd.net.

TITLE

Gauge & Pedestal Assembly

SIZE | DWG NO
A3 | DW-780-187-A

REV
1.0

IW 1/ 8| All Dimensions In mm ISHEET 1 oFl
| 2 r




